
Due Aug 23

P.3 (p27) 5,6,7.11, 23, 25, 27,29,58, 6563,73,75

1,2 (p 5a) 5,7,9, 2 , 23,25,27,28,29,30,31,33

Read 103 (63-68) .
6 f(x ) = 3x - 2 as fro) = -2 (b) f(5)=315)-2

(c) f (b)= 36-2 (d)f (x-)
= 3 (x-1)-2

@ f(x) 72- 4 anf(0)= -4 b. f(-3) = 9 (-3)-4

_c.f (b)= 7b-4 d. F(x+2)= 7(x+2)-4
@ f(x)= x*+4 " - fexrz)= 7x+ 4-4
a, f(-2)= 24+4 =212 ""P(x+2)= 2xto

b. f(3) = att = 113

c. f(x) = VF +4 =212
d.f(x+Ax) = N (x+Ax)2+4

EVx²+ 2 4x +(Ax)2+4

@ f(x)=23

f (x + Ax) - f (x) so Ax * 0,right? sight!
Axa
(x+4x)*_ x3
Ax
+3+ 3x8x + 3x(Ax)*+ (x)}_ x3

3x² + 3x (xx) + (Ax)"

23 Domain of fx)= Vx o re-x

Since x 20 and 1-x20 » 12x > x = 1

Domain is [0, 1]



p27 -31 So
Domain x + 3 + 0 » x 4 -3

(- 00,-3).(-3,00).



PO) f(x)={ 2x+1, x50
To f(x)= { 2x+2, x20 (0,2),

_20,0 &

Ś

 é

 joj

 (10)
a. f(1) = 2 (-1)+1 = - 1
b . f(0) = 200) + 2 = 2 Domain (- 0, co)
c. f(2) = 2 (2 ) + 2 = 6

f(+*+1)= 2 (t +1) + 2 . Range : (-00, DUE,0)

cat? + 4

® nad Slx1 +1, x <| .
J = { -x +1, x21
a.f(-3) = 1-31 +1 = 4

brf(0) = -1+ 1 = 0

af(3) = -3 +1 = -2 Domain : (- 0 , c ) .
d.f(6 +1)= -(6 +1)+1 Ranges(- 00,0]0[1,- ).

f(65+1) = -65_ 1+ 1 =-62
why ? Since 6=20

a . f(x-4),6.lightshe
(2;5) / 0,-3).
b. ffx+2) ecft 2
. 10115-6 ,-3)
f.£f(x)=(2,1)=(2,3) c.f(x) * 4 . imp 4)
E4,-5)= (-4.% ) - (-4,1)
g. f(x)- mirror
o tex -men > (2,5(-2)) d.f(x)-| down I
t han (-43)> {-4,5(2),1)e.2f(x): (2,1)-> (222)
A . Ff(x)= (2,1)752,-15 (-4,3) ► 24,6)
(-45)=(-4,5)
65+121 4
(2,15 (4,1)to it shift.of
PLAME

 aphof f(x)

fora



p26 65,67,75
Find fog(x) and gof(x)
@ f(x)= 3 . f(g(x))= f(x=-1).

g(f(x))= g(3 )
= (8 )`-|

Ga.(fog)(3)=f(g(3))=f(-1)=4 Glad cus) (A2).
b. g (f{2))= g(i)=-2 (3,2) tacy
c. g(f(s))= g(-5) =und.44,-17
d.(fog)(3)= f(g(3))=f(-2)=3 101/ 8,"\/5,5).
e.(gof)ED= gif(n=g(t)=2

f. Gog)-1)=f(g(-1))= f (-4), undefinds

kata

e

 Graph
256 f(x)= x*(4-x ) = x²(4 -x)(TEX)
f(-x)=(x){(A-(-x )=f(x)even function )
Zeros : fro)= 0, 7(2)= 0, F(-2)=0
so (0,0),(8,0);(-2;0)



(ted 1-2 )

(p59) Section1.2

@ 5,7,9,21,23,25,27,28,29,30,31,33
 Dep AUTO W/TABLE)
lim x-4 (user TableSet > Ind- Ask

204 x*_5x+4 3,9|5,99|3.9991.414.001|4.01 | 4.14

1 .00
VXG
O timet o poio popis

e time ina =10:00 por
© linein 4-x)=4-3=1
Man

(28) lime
x > 2 4
( 4 -* , * # 2 4.

f(x) where f(x)= { 0 ; x= 2

lim . f(x)= 4-2 =2
X-22
limat f(x)= 4-2 =2 so lime f(x).D.N.E.
but f(2) To X=22
1x-2
23) line
 X- 2
lim lx
x 22 X-2

lin
A Xoat 2 M
X M
x72
27)lim cost 18:21=1
2 so em to 4:24M D.N.E.

vamus
% 70
 oscillates bt -181
A cos į DNE.
X-20

(28) lino tanx x = to

inhet tan x = - 0 i lina Tanx DNE,



X24+

FS= 2
b. love f(x )DNE
Since linA8)23 k him fG)a |

c. f(t) = undefined
d . tim f. ) = 2

sime lin f(x)=2 and
lin f& )=2

a. f(-2) undefined
b.lin (-2). DNE(SinerliefG)=-00

and lin ACx)= to ) .

c. f(0)= 4
dili f(x) ONE Sinn,die f(x)=1

and line f(x)= 4

e f(2) undefined *
2.list CG)=1 Simelimste!
and ein AG)=1
gof(A)=2
hadin f(x) One Sime
1x8-2 X -2

X9-2+

X20

XP2

X72

*24 lim FG)= to

@ fG).[5 2x x
4 ,x24

lin f(x) exists for allCEA
870



Sketch a function f that satisfies the followin

- flo) is undefined y sf(x]

= f(x). Ja
- F(2) = 6
- lin f(x)=4 HO

- lin f(x)= 3
--> 2

 is one of many possibilities


